A wpmbd B erayid @)m B s @pésTer gnal G\JU'Q.I aﬁlé]g,g);ﬂg)a;rrm
&ipeu(mLd aflourybisaner GTasrrmT@ savsdlHs:

, AlLbA - Sk B :
EF210 ' : - . 20,000 . em. 30,000
Gr,és‘lfru'rrr'réi,@m W (Cegmy vy @éme) 4 am@seT 5 a{,é&rr@a;di

S @i L flsy eugseuml, QJLilq. Cowinrand whpb euflée Der.
AbA  -HlinB

N CH G

1 2,000 3,000
2 1,500 3,000
3 - 1,500 2,000
4 . 1,000 1,000
5 - . 1,000

Qurgsid 6,000 10,000 -

Gg,memurrm ey efldlsib 12% erenfled Grpg, ﬁu_gﬁmm Gg,rrm Qs
Gouamr(@Lb? '
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10.

-Maximum : 75 marks
SECTION A— (10x 2= 20 marks)
Answer any TEN questions.
What is meant by management account1ng'7
(BLDG\)rrsmsmo a;emrra;eﬂum) Gremg)rrsu GI'GUTGOT'?
Give two functions of a management accounting:

Cueraiments sarsdweiien Cagith @rem® Crréstiaamer sps.

What is common size statement?

GQurgl emey Siféma GTEIDITED GTEaT?

What is meant by analysis and interpretation of financial
statemeénts?

‘l'ﬂ'é_,l'rﬂsmu SdEms LiGSSTiiey Greirr:mrrd) Graman?

. What are profitability ratios?

DTUSSETEDLD 16 CTENDTE) GTeiman?

Bring out the limitations of ratio analysis.

alldlg gy ieflan Sensmear QamreanTis.

What do you understand by the term Break-Even analysis?
Geom pLiopp @piie) upH Sl iflaug) wig? '
Give the meaning of cash flow statement.

Qyrés UL siflémsuden eramuigen Quitmer Qaramis. -

What is Internal rate of retirn?

o 6T Gu@eurru_u aﬁhﬁg,u) TG TED arenan?

Deﬁ'ne the term Budget.

aurey Qeaey S L b eranp LsHHen cuanreflossamiLy &(ms.

T 6 un(AJF)- Managerent  Slccouking

-—-—""‘J



11. What 1s contribution? Liabilities 30.6.2009 30.6.2010 Assets 30.6.2009 30.6.2010

j urmasaﬂuq GTEHDITE) GrebTesT? ' E ' - Rs. Rs. Rs.  Rs.
' Building 1,00,000 80,000
12. Mention any two obJectlves of budgetary control. Other fixed accounts 6,00,000 . 5,00,000
aupey Qeaesdl L sHan gCoaibd Gran( Corésmisd &BlLb 0 s. 7,68,000 6,40,000 7,68,000 6,40,000

SECTION B -— (5 x 5 = 25 marks) A Addltlonal information : .
e ‘ R (a) There were the drawmgs <
Answer any FIVE questiqns. (b) _ There were no purchascs (or) Sales of either building

: , - ‘ | : (or) other fixed assets. Prepare cash flow statement.
13. [Explain the advantages of management accounting. .

;ﬁ@ <=|(mewT, crevieu e fl gf; Siflenar ECp QaTHSesLIL L (Dererng.

Guemremrenio senrédlwsiien Berantoger 69 aTé@sa. Quipitiyaer  30.6. 2009 30.6. 2010 Qsnggissdr 30.6.2009 30.6.2010

14. From the details given below prepare a common size income _ W2 B- - (- {.
statement. r : Qegiss Goairiqw Qurésd  .° 40,000 30,000
Particulars Year ending Year ending : sEEGEST 29,000 25,000 s_eanmalser 20,000 17,000
‘31-124201_6 ‘ 31-12-2017 - s 7,39; 000 6, 15 000 spadlmuy 8,000 13,000
. Rs. * - . RS. . . : JSL..I.q.L_LD 1,00,000 X 80,000
Sales , 2,00,000 5,00,000 | ‘ Qv faovws 5
Cost of sales 1,00,000 220,000 | - ' . L_ Congaizser_B10,000) 5,00,000
Non-operating expenses ~ - 30,000 . 35,000 S (NS Q&uﬁg‘,]a;m '
Sip&aTamb g,&mm&aﬂdﬂ@‘mg Quimg; caieﬂsq a.n@mrrem é{gﬁ]a;ma;mm (1) erBuyseT ggIfidame
swMT Qais. (%) sl b ez @g,uﬁma)a; Q&rrg,gua;asefﬂsu @ﬂmumm Lomgnm
eflauyid %@.r@ plgay %W@@“}-Gﬂ o ‘ A Q&TaTPSD eTEIE|D Bena..
: 31-12-2016 - *- 31-12-2017 ¥ : umruq@a;es é{@&G‘G)SSGU)UJ g,u_lrr.rr Qeuis.
: . ©- ‘ @ 'L 24. Calculate the average rate of return for pI‘O]eCt A and B from the
eflpLiener ' 2,00,000 500,000 fOHOng
eflpLienen _Lﬁg,rr@n ‘oL_ssellene 1,00,000 2,20,000 ; ' iy ‘ 4 \ Projeet A PI'.OjeCt B
Qs .' Ty L 20,000~ °  20.000 Investment Rs. 20,000 Rs. 30,000
U TRy - = : Expected life (No salvage value) 4 years 5 years
@ DL D Q& 30,000 35,000
SLORTG SR SeeeyEe . PrOJected net income, after interest, depreciation and taxes.
15. Calculate Operating Profit and Net profit ratio. _ Project A~ Project B '
] R Years Rs. © Rs. !
Sales 2,00,000 ; ; | f;ggg - g»ggg
Administration expenses: 20,000 ’ %
e I;a e ST e 70.000 3 1,500 2,000
.Gross profit : ) 4 1,000 1,000
Income from investments 10,000 5 ) = 1,000
Selling expenSes i 10,000 TOt.al 6,000 10’000
Loss due to fire - 12,000 The required rate of return is-12% which project should be under
' taken?
Y 62453/CPZ6B/CPG6A/ ' 7 62453/CPZ6B/CPG6A/
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QUL 2016 2017 Qenigiésd 2016 2017 ' Spaumid efleurisamer Qaram® @uwiés Gaoris g pyD Hary

i) | W Qo el S huapenp sausd()s.
gy 200 245 erég 200 300 . 0y
8% sLaf QLLSHTD 100 150 sLarmafsan 200 300 eflpLiean 2,00,000
 Geuon 8.0 - 50 75 Qumésd 100 - 140 Aireunss Qaeveyser -20,000
upLIe sLefbCsmissr 250 350 | QLD”"Q.};QB ;@GI)ITLILb 70,000
1,300 1,520 1,300 1,520 ; o
e — PSS D EET Bsmer aumenm 10,000

22. From the followmg ‘details prepare statement of pxoprletary

2 elpuenen Qe ser . 10,000
funds with as many details as possible. ’ét';u_cﬂ o= . BT
QTiTeV BL_L D ,
(a): Stock ve1001§y 16 TS ‘ o , ' D
. (b) Capital turnover ratio (on cost of sales) 2 : ~ 16. From the followmg details of a trader, you are required to
(c) Fixed assets turnover ratio (on cost of sales) : 4 : _ _ calculate stock turnover ratio. -
: , : 8.
(d) Gross profit turnover ratio : 20% o [, - ‘ ol
' ' ales : 3,
(e) * Debtors velocity:2 months . ) e » Sk
‘ : . : : ales returns
. ()  Creditors velocity : 73 days. . 2 g . o
1 ross profi = ;
The gross profit was Rs.60,000, Reserveés and surplus amount to Stock in the beginni 13
Rs. 20,000. Closing stock was Rs. 5,000 in excess of opening tock in the beginning 1,378
stock. Stock at the end 1,814

&Cp Qar®ésul_(Herar Gﬁleummasa)ma; Ga;rrmr@ 2 Merwwmrari ‘@gﬁ

Sipaumid efleupriusamar Glamet( aréE s1pm 8 il séHenen samréd (s,
SADEMHMW Uit Q&u1s. :

(.
LSV el =08 26 : eAlpLiene 33,984
() s ewrury eflfigd (aﬁ]rpumm @u_a;a;‘e_r,gﬁlev) 2 aipLienan HLith 380
() Poowurar Qsrss aS]u_nrumJ Mz (eNHuenar @u_asa;g,‘é,]en Quorss eorutb 8,068
(m) Qs Qeoru efwmumy eldsib —20% <TIBL B7ES 1,378
(2.) . sLamafiser Q:I@GD Cousth —2 TS Ond sréE - 1,814
(2ar) asl_eo‘?‘r_'r,(Sg,rrr'r' Deqsgime Ceusid —73 BrL_ger .
17.  Calculate Break-even point.
Qurés Garub . 60,000, pasEE HHD 1BES) @ 20,000 ' N
Qs sr& iy, em. 5,000 b g768 UL el i dsLb. \ i
Sales . ' 6,00,000 .
23. Statement of financial position of Mr. Arun 1s given below Tl 1,50,000
Liabilities 30.6.2009 30.6. 2010 Assets  30.6.2009 30.6.2010 s , :
Rl Rs. . ,- Rs. el T Variable costs: | | l
Accounts Cash . 40,000 30,000 Direct material . 2,00,000
payable 29,000 25,000 Debtors 20,000 17,000 Direct labour 1,20, 000
Capital * 7,39,000 = 6,15,000 Stock | 8,000 13,000

Other variable expenses 80 000
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Qaru plropp Leteflapw sa@réh (s,

.
eflpuenéer 6,00,000
Hlanew Qaava|ser i 1,50,000
LIYUHD seilame : .
Criyiq Quimmer ‘ 2,00,000
Cipirig 8060 1,20,000

wHD wIYLHn Qgwe sar 80,000

18. From the following balance sheets you are requlred to prepare

cash flow statement.
Liabilities 2016 2017  Assets 2016 2017

Rs. Rs. : Rs. . Rs.

Share capital 3,00,000 3,50,000 Land 70,000 86,000

Profit and loss a/c 20,000 33,000 Stock 90,000 1,00,000
Current liabilities 90,000 65 000 Debtors 1,20,000 1,15,000
- Cash . 1,30,000 1,47,000

4,10,000 4,4‘8;000 4,10,000 4,48,000

£Cp Gsrdssiiu Gerer Qumuyflons OGS Embs Crmés UL
agﬁl-ésmasmu_[ St Qeuis.

Qumitiser 2016 2017 Qarggissar 2016 - 2017

(.- {B- ) , WE B-
LIS (LPEO SEITLD 3,00,000 3,50,000. Hlevd 70,000 86,000
oMU L &/ 20,000 33,000 spsfiuy 90,000 1,00,000

BLUy Qurpiiiysdr 90,000 65,000 s ameflsar 1,20,000 1,15,000
) Qprésd 1,30,000 1,47,000
4,10,000 4,48,000 ‘ 4,10,000 4,48,000

19. There are two projects A and B. The cost of the project is
Rs.30,0QO in each case. The inflows are as under :

. Cash inflows
Year Project A Project B
; "Rs. Rs.
I 10,000 2,000
11 10,000 - 4,000
I1I 10,000 24,000

Calculate pay back period.

4 62453/CPZ6B/CPG6A/
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B Qupdriser ‘A’ wpgd B g @ream@ . 30,000 .@45;@966)@)
2 LG SIS QITEs eure|ser SLpauHommi.
Qurss 2 eTeurey

e, AlLbA. SHiLbB

5 -
I 10,000 - 2,000
II 10,000 4,000

III 10,000 24,000
Sl U'G]ugnb sr}@g@@m a;méli';a%]@a;b
SECTION C — (8 x 10 30 marks)
Answer any THREE questlons

20. Distinguish between management accounting and cost
accountmg '

Cﬁmwrremmm a;mrasé]u_lma)u_[w LOHMILD @qn&a;aﬁlmcu essmzséﬂu_lmwum
Gmgu@g,g&

21. From the follovnng balance sheets of X Ltd; You are required to
prepare a comparative balance sheet.

Balance sheet as on 31st December (Rs. in lakhs)
Liabilities 2016 ' 2017 - Assets 2016 2017

Rs. Rs. Rs. Rs.
Equity capital 400 400 Land and building 400 370
6% pref. capital 300 -300 Plant and machinery -400 410

Reserves 200 245 Stock 200 300
8% debentures 100 150 Debtors . 200 300
Bills payable 50 75 Cash = 100 140
Sundry creditors 250 350 e 2 iz

@ 1,520 1,300 1,520

. X—-fpeuangslen G Qa;rr@a;s;uun@mm @\ mLlihlene @;ﬁ]u&eﬁ]@p@
Uiy CopréE @mUY oo Golly Siflémaamu swunT Qs

31 wsbui pravemu QEULHeoa GO (6. Yol ssHiblo)

QurpLiLseT 2016 2017 Qerggissen 2016 2017 -
e M. . 0. .
L@ (pse 400 400 S wpgbsinid 400 370

6% wargfleno LkG ws® 300 300 Qumdl wppd upHynd 400 410
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